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T H I R D  C O N D I T I O N A L

[ Exercise 3 ]

Put the verbs in brackets into the gaps. Form a Conditional sentence —
type 3. Mind the negations in the sentences.

Example:
If the jacket   (not / to be) so expensive, I   (to buy) it.

Answer:
If the jacket hadn’t been so expensive, I would have bought it.

1. If I   (not / to lend) him my watch,



he   (not / to break) it.

2. Jonathan   (to finish) the marathon



if he   (to train) harder.

3. If she   (not / to have) a terrible headache



yesterday, she   (to come) to the party.

4. If Andrew   (to tell) you the truth last year, you



 (to forgive) him.

5. We   (not / to fall) asleep



if we   (to drink) coffee.

6. If he   (not / to meet) her 10 years ago, they



 (not / to get married).

7. If they   (to reach) the hotel before lunchtime, they



 (to eat) with other guests.

•  •  •  P A G E 1 O F 2 •  •  •
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8. Ellie and Mateo   (to go) to the concert if they



 (to buy) the tickets.

9. You   (not / to miss) the train if you



 (not / watch) the news.

10. If Lillian   (to read) the book, she



 (to discuss) it with the others.

•  •  •  P A G E 2 O F 2 •  •  •
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T H I R D  C O N D I T I O N A L

[ Exercise 3 ]

A N S W E R S

1. hadn’t lent / wouldn’t have broken.

2. would have finished / had trained.

3. hadn't had / would have come.

4. had told / would have forgiven.

5. wouldn't have fallen / had drunk.

6. hadn't met / wouldn't have got married.

7. had reached / would have eaten.

8. would have gone / had bought.

9. wouldn't have missed / hadn't watched.

10. had read / would have discussed.
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